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3,100,000& * 14 3,100
oARS &3t 3z L MMS EEHE
10,000,000 * 14 10,000
cSEALNEETM NMUIA 28HIE
300,000& = 123 3,600




A= dIAXNE= 2M  NE
Hi: NSS (LIS /ALHY - WEXH)
SR XY AMSS 0 (298 R)
% - 4 14
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
oSHAOEE TN MUIA £EHIE
130& = 10,000 1,300
206 M= Hl 3,000 0 3,000
01 M= 4l 3,000 0 3,000
ONZLAA 3tEhate] 3,000,000 = 14l 3,000
306 =93 13,200 8,518 4,682
01 &3 13,200 8,518 4,682
OXNgNARE EAHS 13,200,000 * 14! 13,200
307 21201 A 250,000 250,000 0
04 QIZHSHALE & 250,000 250,000 0
OAl=] 89 QI2ZtHA BEX3
250,000,000& » 14 250,000
405 Xt&tE SHI 11,660 0 11,660
01 At ESFH S 11,660 0 11,660
OXEgA HMEsE dXNMEI ¢
530,000 * 22CH 11,660
ANEA 2 MA=- T2 SANES 152,532 129,468 23,064
201 Let2d] 30,708 54,084 A 23,376
01 At 22l I 30,708 54,084 A 23,376
Oget=EH| 30,708
cNNAMESEI |XE+  300,0008 * 123 3,600
ocNEZEHI |RXE+ 990,0008 * 123 11,880
oRHtY XMEZEIAIAE S/WRIAE=>
700,000& = 123 8,400
S HEAAE RAE
209,000& = 123l 2,508
oMEXNHHSE AXAIAE S/WRXE=>
360,000& = 123 4,320
207 Ao 61,000 22,000 39,000
02 & AR I 61,000 22,000 39,000
OXZA ARS HEHRAIAH 2=
50,000,000& » 14 50,000
OXIZA ARS 2ZHE LR AIAHE JHOIZB 2S5
s 11,000,000 = 14 11,000
403 A X EHHS =0l A 60,824 53,384 7,440
02 S| 2SI CHSHCH & A B 60,824 53,384 7,440
OXNYAN HEAMAEH RX2e
39,324,000 = 14 39,324
OM2+2 FBAAE X2
21,500,000 = 14 21,500
HEgH =25 160,870 145,305 15,565
201 Let2d] 126,870 110,305 16,565




A= HHXA=A 2M ¢ NME
H: LSS (Let2Z2dA8 /NN - HEXH)
el XN EE (ol @)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
01 At 22l bl 35,000 19,900 15,100
Ogst2H| 35,000
ocdZ i SO EHI 500,000& = 15A 7,500
CRSHUR U VAZEGLLD
3,000& * 2,500 7,500
oMYA 2 EEEMNS=E
4,000,000& * 14 4,000
ocdIXEES F & ANSXHS T £2/d]
1,000,000& * 14 1,000
CHTMBAZMHHIA 0|8 +42
15,000,000 * 14] 15,000
02 3524t 91,870 90,405 1,465
OZ2Z2ZYAHA 88,870
oRHEZ ¥5H 88,510
CJIEFDXNAES(SD])
1,900& = 1,300 * 13 2,470
SEZws (L)
270% * 8,000 * 63 12,960
SEAYUE(SI])
1,900& * 300 * 63 3,420
HMEDXAHES (L
270& * 60,0008 * 43 64,800
XM DA (LBt
270& * 7,000 * 23] 3,780
HHE S ESHOUHW2 LS
270& * 2,000 * 23] 1,080
ofNsglz 360
ANSIAHHSTHAX XS ANHSoUAAMAAE O
S Sz 30,000& * 123 360
OXtEF . &8HH| 3,000
oYX HSE AXXNE RALZ
3,000,000& = 14 3,000
303 ZAZ 15,000 15,000 0
01 Za2 15,000 15,000 0
O&fILA= 15,000
ocltEHE HMEY AZAZ
10,000,000& * 14 10,000
oNEeZ A AS 5,000,000& * 14 5,000
305 HiA=2S 2,000 0 2,000
01 A S2S 2,000 0 2,000
Ogx&es = taad
2,000,000& = 14l 2,000
405 XHo&HF SHI 17,000 0 17,000
01 JHAHY 2 Z 5 S H 17,000 0 17,000




NEIE T bR
o f4BE(ANBIHEY/
Sl XN &S0

A AE0
AN - HEXH)

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OXXN=L=F 0B Mt &
10,000,000 * 14l 10,000
Oe-3% FAHMY ML TaAAY 2o
7,000,000& * 14! 7,000
NEM=SUHAME 223l 31,550 31,600 A50
202 O4dl 29,050 29,100 A50
01 = LH 4 Hi 29,050 29,100 A50
OMNSES=AL (48l 200,000& = 3% = 83 4,800
HEZM(HEa+d) HAXNE 2 4 0|
150,000& » 2% = 132 3,900
OMeleld HAXNES A ol
150,000& = 2% = 202 6,000
O22 NHMLEA 28+ & S 04l
250,000& = 4 = 103l 10,000
OMExe Mg &g A ¢l
10,000& = 3F = 703l 2,100
OAM2I+=2 MgH A= 2,250,000& * 14! 2,250
203 YR =2t 2,500 2,500 0
03 Al =AY R =& 2,500 2,500 0
OXNLHM=ZUHAIHFZ 2,500,000 * 14l 2,500
WMIE & XA 129,779 128,854 925
HEFEEL & A= XZA 113,579 112,654 925
101 @124l 33,579 38,654 25,075
04 JIZHHZ2XNESE S 33,579 38,654 25,075
OMNEFEIIAXZA HREX 33,579
=Jl2g 39,000& » 3% » 230 26,910
oFFd 39,000& = 3H = 46¥ 5,382
ociARESFI=E 39,0008 * 3F * 11 1,287
201 et 80,000 74,000 6,000
01 At 22l 80,000 74,000 6,000
OZFEIIAZA 2E22E
80,000,000& = 14l 80,000
ez RFA 5,700 5,700 0
201 et 5,700 5,700 0
01 At 2t 2l 5,700 5,700 0
Oget=ZH| 4,300
o RSLEIRAAS SAMFT M
1,000,000& * 23] 2,000
c2BF S 2,300,000& = 14l 2,300
Oo=249=+¢ 1,400
oS SAEIIRAS 70,0008 * 108 * 23 1,400
ZAMTE &AL 2E 3| 10,500 10,500 0




CHEXE= M

DAE D

A=
HE: MAHE(LUBDYI/NNLBE - WEX)
S HNIAE SEEM (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
202 Od4dl 10,500 10,500 0
01 = LH 4 Hl 10,500 10,500 0
OXEAN WAMXZEA OHI
140,000& * 159 » 5% 10,500
KA B2 Al 68,000 143,396 AT75,396
QIAEHOME =Y 68,000 143,396 AT75,396
201 Let24dy] 68,000 143,396 AT75,396
01 At 22/l 68,000 143,396 AT75,396
OXZA & M= FEZ2M =2
60,000,000 = 14 60,000
OXNZA & M=+ I BR22
80& = 100,000 8,000
HY2FZH (MZE ) (IIEH/IIE) 45,630 42,880 2,750
Jl=&dl 45,630 42,880 2,750
Jl= &3 45,630 42,880 2,750
201 Let24E] 26,100 24,500 1,600
01 At 22l 26,100 24,500 1,600
Oget=&H| 14,700
cHF AR ESHI 3,000,000& = 14l 3,000
o dFAHl=eltl 5,000,000& = 1A 5,000
= J|Et==&H| 3,000,000 = 14 3,000
ocXgAM2H AP 2,500,000 * 14 2,500
SHR2IR=EZ 200,000& * 4z 800
ol HHA F 200,000& =« 23l 400
O= &l 11,400
oll=gRd g Al 8,400,000& * 14! 8,400
oS4 LA 3,000,0002! * 14! 3,000
202 (4 Hl 10,450 14,000 A 3,550
01 SLHOIYI 10,450 14,000 A 3,550
OJlege+=ad 0l 10,450,000& = 14l 10,450
203 R =&l 4,080 4,380 A 300
04 FN2ELRZ=TH| 4,080 4,380 A 300
ORN2IYRFL 340,000 * 12 4,080
405 TtHabH S| 5,000 0 5,000
01 AL ESFH SH 5,000 0 5,000
O=AI 5,000,000& = 1CH 5,000




= A
N = 0] &F AF S & AN A
SRR EMEE SA 8D
HaM: THE X (Lert2Z2H™/XSHE - ERH)
ol SeiE sHBe 29 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
3| Hl ot 63,172,462 60,474,916 2,697,546
= 294,000
Al 62,878,462
THAE X (Letz22sd A /NS - HEXH) 537,076 510,376 26,700
EYE A2 2H 537,076 510,376 26,700
NEZA L EAR) g2 29 40,526 35,526 5,000
201 et 40,526 35,526 5,000
01 AP 2t 2] H| 40,526 35,526 5,000
Oogstedy| 40,526
cZNMRARG BEEANF UM
22,5003 = 4008 9,000
CTMUIAND HALY
70,000& * 49 x 20¢ 5,600
o ZBOQISHAI MEEDA HEESH
20,000,000& * 14! 20,000
oMEE DA 22t 5,926,000& * 14 5,926
28 HUYHE 29 29,390 29,390 0
201 LBt | 29,390 29,390 0
02 22244l 29,390 29,390 0
Ogetedd| 29,390
olict&H OlE2E4E2 20,000& = 3003 6,000
o}tz T2 )M KAESH
670,000& » 12& 8,040
S N - E s =
70,000 * 53] = 99 3,150
oRFID HAEXIAMBCIAAB KRS E S
4,000,000& = 23] 8,000
oot AHEAICHACHY ZT208 SAES
350,000& » 12€ 4,200
NE Y SAR)| 2FEH| 6,000 5,900 100
202 044l 6,000 5,900 100
01 2L I 6,000 5,900 100
OX&sY 2A2)0|89 oyl
6,000,000& = 1A 6,000
EXHAL2(AR) S 461,160 439,560 21,600
204 = 2 4= A H| 461,160 439,560 21,600
03 SEHEFEEH 461,160 439,560 21,600
OZANSHZ222(530|6tH)
80,000 = 79 x 12&€ 6,720
ONREEs2A 66,000
o Al2A (5320/5t) 100,000 = 329 = 12& 38,400
5.8 .=(630l5})
100,000 = 23¥ * 12& 27,600




A= dIAXNE= M S AR
H: WE N(LersZF /NS - HWEXH)
ohelr EoE N 29 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Onaggs R (520138t)
150,000& * 79 » 128 12,600
OZRALMLL T
60,0003 = 2% = 123 1,440
OESEHMESEA 100,000 » 18 123 1,200
Ot g st (620I0t)
50,000 = 622 = 12& 373,200
HAY A4S (LI SHY/UBHT) 4,777,204 6,824,087 A 2,046,883
SENY ¥ BE=SS 2l 262,406 249,376 13,030
SENHE & =235 RAES 196,006 214,976 A 18,970
201 ¢4l 196,006 212,006 A 16,000
01 At 2t 2l 25,750 51,750 A 26,000
O e8| 5,750
ocltsitE A2 25,000& = 30CH 750
cNEEZ SYIIHE P 50,000 * 1000K 5,000
OZEXE gz 20,000
oS 600,000& = 2CH = 10 12,000
olU=HsEX 400,000& = 2CH = 103 8,000
02 =24l 170,256 160, 256 10,000
OZ3324gHl 170,256
o Xt = XAl 197,400& * 310H 6,120
ocd R SIAMNERES
63,0003 = 3104 = 23l 3,906
cXsSi BEEE 330,000 = 31CH 10,230
oxtERFH L MUl
150,000,000& * 14l 150,000
SHIIAL AL & & 4,400 4,400 0
201 ¢er24| 3,000 3,000 0
03 &AHZ ZHl 3,000 3,000 0
OJIALHECHE Al&S 300,000& = 10& 3,000
301 et a = 1,400 1,400 0
10 HALAHI 242 1,400 1,400 0
OJINMSUSE (=) SAH 7,000 * 200 1,400
E - UM XY 56,000 24,000 32,000
405 XtAHE SHI 56,000 24,000 32,000
01 AL ESFH SHI 56,000 24,000 32,000
oxg=¢ 56,000,000& * 1CH 56,000
SEXNY & SE=ES 24l 6,000 6,000 0
202 Odl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0




A= HYIA=2 2N 3 AH
Ho: AL HUSY(LBBIHT /LN T)
Sl ZEXY L ZBEE e CERED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
OHLHAR2F=A SHOHI
20,000& = 5% = 303 3,000
O2&IIAF &&0HEl 30,0008 = 10 = 103 3,000
B MAE 22| 1,204,042 2,140,481 A 936,439
= - 2R 2 1,198,042 2,137,481 A 939,439
101 Q124 H] 11,542 11,139 403
04 JI2ZtHIZ22NEE S 11,542 11,139 403
OZ2SMAMAEIEANRIF o182 11,542
ocllga 45,800 « 1% % 200 9,160
oFEs 44 45,800 « 19 = 42 1,924
oA Xt4& 45,800& * 199 = 10¢ 458
201 Bt 40,500 40,500 0
01 AP 22| H| 40,500 40,500 0
Ogetd9d]| 40,500
osSllxxa 25,0003 = 60 X| 1,500
oEHLLS 15,000,000 * 14! 15,000
oZAEHIIILLEZ 250,000& * 2824 * 204 14,000
o=Z XS MA T2 )X 22l
1,000,000& * 103l 10,000
401 Al HI L 2 0HHI 1,146,000 2,085,842 A 939,842
01 Al&H| 1,146,000 2,085,842 A 939,842
OA&EHI L2 1,146,000
o [ Ml XH AHE X| 0H & H
1,096,000,000& = 14! 1,096,000
oANKUBIAHE B 50,000,000& * 14! 50,000
MAtete] 2 A 6,000 3,000 3,000
202 044 6,000 3,000 3,000
01 2L Hl 6,000 3,000 3,000
OMAr2 2| E2=& (O H|
20,000 * 2% = 150 6,000
SEHAI U3 910,000 1,795,000 A 885,000
HAH AN 2 5= 910,000 1,795,000 A 885,000
401 AlEHIZL 2 0HY| 910,000 1,795,000 A 885,000
01 Al&H| 910,000 1,765,000 A 855,000
OHME BA B52AS 55
250,000,000& = 14! 250,000
O3ZES FOUXNXHME HBAH ES
250,000,000& = 14! 250,000
OSESA &= L Ald HE >
60,000,000 * 14! 60,000
Ouils FoAHMEH &= 200,000,000 = 14! 200,000




M ox
40 5 4

CHEXE= A R (s
X

CEAMY MR (LS IAT /L)

DS EA S0t

AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
Oz3% 718 248 2 3= 9= &
150,000, 000& 150,000
A2 - 2 2,400,756 2,639,230 N 238,474
EAAIE 22l 2,197,556 2,237,030 AN 39,474
101 @124l 23,077 22,365 712
M4 IR Z22NSES 23,077 22,365 712
OJIZHZ=2XRHsEs 23,077
ocFEANZZZ(SA)
74,0003 * 309 22,200
oHMZZEC(DEREH)
74,0003 * 1.95% * 309 433
oHMZZEC(MTHEE)
74,0002 * 2.0% = 309 444
201 LBH2E| 1,679,077 1,642,787 36,290
01 At 2t 2l 109,797 103,129 6,668
O e8| 100,687
cHAES ¥ UASAHM
375,000& = 105 * 8% 30,000
CHMIHAE (L. Ha+=Z) HAZ
2,500,000 * 23] 5,000
o H A L HEAg 6,000,000& = 14! 6,000
o & At =3 703 * 36,200m x 63l 15,204
CHALYANL HALLE
9,334,000& * 13l 9,334
o H A JIEIEMN =25
200,000& « 6CH 1,200
CHAMULAL (HSI)SAA=E
4,000% * 174.36RT » 20K 1,395
oHAIUEAL (B ) B ErE
200,000& « 7CH 1,400
S HAL NAANE(ZAIINA)EBHEZ
500,000& * 13l 500
CHAFIANL HY 242
1,500& = 5,300KN * 13 7,950
oHMAEE FLAAMBEIF)XLHIH
= 300& = 37,840m 22,704
O n=H| 3,000
oMI|.ItA HIIWE S
300,000& = 109 3,000
o1l =l 1,000
o |BSA EY2EN 2=
100,000& * 10¥ 1,000
O=2gl 5,110
o AR X Zel S4ltl
7,000 * 2% = 365¢ 5,110




A= dIAXNE= A R (s
o BAY HUSY(LBTIUT/ABHE)
& FAze - 23 (&)
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
02 =224l 1,569,280 1,539,658 29,622
OZ2S2SZLMA 835,976
o HAL HIlE 30,000,000& = 122l 360,000
oFA Hot=ER
1,100& = 2,500m * 123 33,000
o HAL W L (OtA) 13,000,000 = 122 156,000
SRR ROl FSE =Rl 800,000& * 12 800
cAZSEIMEREES 3,000,000& = 23] 6,000
oloi= RS (HE AMES . AHEdH)
408,350 * 340 138,839
o &ofl i & S Xl 2l bl 1,040,740& = 1314 136,337
cNERLRFES 5,000,000& =+ 13l 5,000
OAlE ZHl s X 733,304
o AA =S R XL 1,000& = 37,704m 37,704
oA HEANEE RXE=>
4,000& * 5,300KW 21,200
oHAM AYANEE FAES
5,000,000& =+ 23l 10,000
oEAN B (A . H=) RXAES
3,000,000& = 32 9,000
osdI FAEs2e EY
2,000,000& = 122/ 24,000
ogstae 89 450,000& * 123l 5,400
o HACCTVH X £ 5= 1,000,000& = 504 5,000
oHAN YEI LY H2 ¥ FAE (B2
SI,22EH) 2,500,000& » 20K 5,000
oFEAMN BINEFFHANE RAE=
5,000,000& =+ 23l 10,000
o & A IBSHHl RAE= 1,000,0008 = 5CH 5,000
SR PN FaR=—=EPNYs| 700,000& » 2= 1,400
o5l RAE=> 400,000& =« 5CH 2,000
oRUIIAH - =2H FXNES
2,000,000 = 14l 2,000
ocHAEN S22l 550,000,000& * 14 550,000
oAb IBSAIAE 2c/EX
2,500,000& = 122/ 30,000
cHA 2SS KFANE=S
80,000& = 358 = 22l 5,600
oF A HSDI FHl 5,000,000& =+ 2CH 10,000
206 TH 2 Hl 120,902 132,902 A12,000
01 =4l 120,902 132,902 A 12,000
OFEANRXNES Mzl 120,902
oA A=H 50008 *« 2004 » 204 = 28 4,000
o=y H2H 3,500 = 2004 * 6& 4,200
o=dle R-22RJtA 4,500% = 76kg * 6CH 2,052




SRR TR SA 8D
R AL HUSY(LBBIYT /L)
Ee: "HALZE - 29 (2 &HH)
- RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
oSS (ALIASZGS) 4. 500 = 1004 * 6CH 2,700
o 2 Z Ml (DRYER) 50,000 = 1204 600
ogetol(olgd2el2) 1,000 * 1,000KG 1,000
ooy AxE2A3 1,000& * 1,000KG 1,000
oMAYl BB (E24HEEAL4S)
50,000& * 5& = 400H 10,000
cHS(HBS)2405
1,0002 *20= = 5,00004 = 10/100 10,000
o QOHHD| (HES208)
20,000& * 20 * 12570 = 20/100 10,000
CHIME(HAY 2EHE)
100,000& = 100= 10,000
CAYAETHE(ZXNI| LESHZ)
50,0003 * 10 » 0= 15,000
ocJ|HAH 2. FelA 200,000 * 3= 600
oH Qe B2 4,000& = 1,5004 6,000
oHANESLUE BEEME LCCTV S
1,500,000& * 8= 12,000
oS2AI(ZEUHREEZ)2 102
1,800,000& * 10 18,000
o md (Ht= )72 27,500 * 50004 13,750
401 AlEHIZL 2 0HY| 324,500 268,976 55,524
01 Al&H| 324,500 268,976 55,524
OFAN AN&EES 30,000,000& * 14! 30,000
OFAN HS)| 24N & SZEY 2HLA
5,000,000& = 2CH 10,000
OFA NES8 d2s HEeE20/2eE WXl
2,000,000 = 5CH 10,000
OFAN =20 2EWH(5.657])
10,000,000 = 2CH 20,000
OFAM HS ¢ IR 35 24
2,200& * 10,0004 22,000
OFAN Z2I/ X318 & =5 20 HM
2,000,000& = 10CH 20,000
OFAb BH=EHZ DH 2,500,000& = 404 10,000
OFAMUW AR A OI& THBHXI
30,000,000& * 14! 30,000
O&EA 2AHD| HdA WX 600,000 = 25J0 & 15,000
OFA DEF S4BI 3 24
15,000,000& = 14! 15,000
OFA BH=BHIZHOHE -5 L SlE WX
3,000,000& = 5J4 A 15,000
093 s sS4 YA 50,000& = 750m° 37,500
O A AR =48 A
25,000,000& * 14! 25,000
O A et sy DA
20,000,000& * 14! 20,000




M ox
40 5 4

TP
DEAY WU (LHTDHE

D EA2E - 29

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OBM HIIAE =HSA 15,000,0008 = 14! 15,000
OFAL 82028z 2 PC Wil
25,000,000 = 14l 25,000
OAZEAL A8 A EY 5,000,000& * 14! 5,000
405 XtatH SHI 50,000 170,000 A 120,000
01 HatH ESFH S 50,000 170,000 A 120,000
OAMEH EI & 237¢
50,000,000 * 14 50,000
EAAIE 23 EFH 47,200 46,200 1,000
206 = Hl 13,000 12,000 1,000
01 MZ 4l 13,000 12,000 1,000
OBM =8 E&ol 2H=7E
200& =+ 10,000 = 23l 4,000
OFAXZE Hlzg+7Y 4003 * 10,000= 4,000
OFA =2 (Z) ¢ 5,000,000& * 14! 5,000
401 AIEHI L 20 34,200 34,200 0
01 A& HI 34,200 34,200 0
OAMEA It2 MESSH HHASY
300,000& = 40= 12,000
OAEA Jt22 DHALS 330,000&  40= 13,200
OHAN ZAL2(AUD)4E HERY
300,000& = 30= 9,000
FArZElRA 23 6,000 6,000 0
202 04l 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OFAr2tel =&l 20,000& = 6F = 503/ 6,000
EAUUXZRSE 2SE A=24d 150,000 350,000 A 200,000
401 A& HIZ 201 Y| 150,000 350,000 200,000
01 A& HI 150,000 350,000 A 200,000
L= HEZ wiH3SA 50,000,000& * 14l 50,000
OAMNEA ZHES(LED) LA S At
100,000,000 * 14 100,000
2L ZHI (S H D) (IIEH/IIEL) 57,858,182 52,573,953 5,284,229
= 294,000
Al 57,564,182
HEAIH(BZ) 57,687,462 52,411,353 5,276,109
= 294,000
Al 57,393,462
SRR AHYIX A 55,448,859 51,185,625 4,263,234
101 @144 Hl 53,758,659 49,543,365 4,215,294
01 2= 51,504,549 47,641,447 3,863, 102




SR ENEE
B #HS S (3D
o o2y (5R)

A R (s

A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
o2s 32,277,431
c28(¢s) 83,227,000& * 1H 83,227
=3=(¢8) 79,837,000& * 1Y 79,837
c4g (e s) 73,036,000 * 69 438,216
°ob= 3,849,500& * 589 * 123 2,679,252
S=) 3,277,800 » 239¥ » 12& 9,400,731
S 2,673,900 * 24498 » 123 7,829,180
=8 1,864,300 * 1938 x 123 4,317,719
=9 1,558,500 * 106F * 123 1,982,412
oJlsH 5,230,790
= 3,404,500& * 159 » 128 612,810
= 3,081,400 * 459 » 123 1,663,956
= 2,792,300 * 429 » 128 1,407,320
- 92 2,148,200 * 60Y » 123 1,546,704
cgdA 95,831
o= 3,277,800& * 19 » 122 39,334
= 2,843,700 * 1€ » 128 34,125
- 82 1,864,300& * 19 » 123 22,372
od X 140,236
o2t 5,295,600& * 1& » 128 63,548
o1 AL 3,195,300& * 29 » 123 76,688
o= 2,639,680
ocdIZxd 31,676,151,000& * 1/12 2,639,680
Ozu22+¢ 3,407,936
ollzae
8,476 = 1,008 = 10AI2t = 12 1,025,257
oSEZR 2,148,158
=& 8,4763 * 600H = 25AI2t » 123 1,525,680
A - SEHS
8,476 408 = 15A12t » 128 622,478
o2 22,600 * 2H * 365¢ 16,498
oxd2RE 68,1323 » 32& » 100 218,023
OZ3d+g 3,098,771
oJtEE 1,048,512
BH < Xt
40,000& = 1,0169 = 0.9 » 12& 438,912
EXIBIES
20,000& = 1,016 = 2.5 » 12& 609,600
ocXNUHESHEXSY 340,637
nssen

419,090& * 1,016¥ * 0.2 * 45| 340,637

ocdIZEItit3
100,000& = 1,016F * 123 1,219,200




A= HHXA=A 2A A
M HESHZH (A W) (IIEH/IIE
chel: ol 2y (5T (sl &2)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
cHesra+g
32,277,431,000& * 4.1% *~ 35/100 463,182
CRHBRAFE 30,000& = 20 = 12& 7,200
oREZRLY 20,040
23 50,000 = 159¥ * 12& 9,000
23 40,0008 * 239¥ x 128 11,040
OExgRH 482,664
cllgdExxY 68,280
532 0] 4t 50,000& = 10¥ » 12& 6,000
6~72 30,000& = 1239 * 12& 44,280
- 8= 0] ot 20,000& = 759 * 12& 18,000
c)lEgdRaY Jtata 19,200
- JIAH 30,000& = 209 * 12& 7,200
AR DA 20,0008 » 509Y = 12& 12,000
ocHIAALR LG 80,000& * 3¥ x 12& 2,880
oclzdfeH 70,0008 * 14 x 12& 840
oEZoMALE 2,160
M| or M EHEE X} 30,0008 * 2% x 12& 720
MOt B XS 30,000& = 29 x 12& 720
PE=ES 22X 30,000 * 2 x 12& 720
oNSHESH ¥ FHYR +¢
40,000 = 259¥ * 12& 12,000
oMAAR G 6,000
35 0 & 50,000& = 10Y = 12& 6,000
o MM 20,000 = 5% x 12&€ 1,200
cOIAAR LG 30,000& = 238Y * 12& 85,680
ocgHEIRY 70,000 = 281Y = 12&€ 236,040
ol 5,904
62 0] &t 40,000 * 4% x 12& 1,920
72 38,000& * 5Y x 12& 2,280
8= 36,000& = 3¥ x 12&€ 1,296
- 92 34,000& + 19 » 12& 408
oXdAxY I3 24,120
ZHEEH 240,000 * 5H * 128 14,400
HES A 22 270,000& = 3¥ * 12& 9,720
o MEEXNEE24E 30,0008 * 518 x 12& 18,360
OYHE &= 1,658,520
SRS 1,924,750& = 10 x 60 1,154,850
ocllsad 1,678,900& = 58 x 60 503,670
OFMZ A 130,000& * 1,016Y = 12& 1,584,960
OHAESIIHl  31,676,151,000& = 1/12 x 120% 3,167,616




SA EAHL

NEIR T h R
M HESHZH (A W) (IIEH/IIE
S CESAH(BZ) (&2 &)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
OH I8 AtY|
32,277,431,000& = 1/12 = 0.86 = 1/30 * 20 1,542,144
=]
OMSIM A 58,743,821,000& * 2.8% 1,644,827
02 JIEA 2 %= 2,254,110 1,901,918 352,192
O3 1,630,060
oJlEa2 1,085,994
== 2,784,600& * 30¥ x 12& 1,002,456
d24 1,002,456,000 * 1/12 83,538
cIIExE 32,400
- B R X 40,000& = 30¥ = 1.0 x 12& 14,400
- 22IJIE 20,0008 x 30Y + 2.5 x 128 18,000
SPIE R Eg= 10,059
NE& W  419,000& » 308 * 0.2 x 43| 10,059
odIALEIIAMZ 100,000 = 30¥ * 12& 36,000
o= ¢ 2,400
gt & 40,0008 = 5% x 12& 2,400
o A2t
8,476& * 30 x 35A12F = 123 106,798
S = 22,6003 * 4% x 3652 32,996
oF5dZ2RYH 68,132& » 5% x 83 28,275
os2|lFMH| 147,046
gAY 130,000& * 30 = 12& 46,800
HE S 0HY|
1,002,456,000& * 1/12 * 120% 100,246
o e AtH|
1,002,456,000& * 1/12 = 1/30 * 20 55,692
oA R AY| 68,400
ol & SH| 50,000& = 30¥ * 12& 18,000
AN E X 140,000 = 30Y = 123 50,400
o Il =H| 400,000& * 30Y¥Y x 23] 24,000
OX2MH&Hl 1,559,478,000& * 2.8% 43,666
OH*H 558,737
oJlgaz 445,116
- E 53 64,278,000& * 1& 64,278
S HER LS 59,346,000& * 2H 118,692
S HeER G g 48,502,000& *~ 2H 97,004
S H R 23 42 ,552,000& ~ 3H 127,656
- H A Otz 37,486,000 = 1Y 37,486
cIIEFExE 10,800
- Hi 2 Xt 40,000& = 10 = 1.0 x 12& 4,800
-2 2AJIE 20,0008 * 10Y¥ + 2.5 x 128 6,000
oNIHSHIEXZLE 16,764




P RIXER SN 3D
3 2

A=
FM: #HE2AZH (S H D) (IEH/IIE)
chel: ol 2y (5T (sl &2)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
Qe ==l 419,090& = 109 « 43| 16,764
cNLRRLY
8,476 » 10¥ = 35AI2F = 12& 35,600
o Z A G A 130,000& = 108 » 12&8 15,600
o HIE AHH|
187,866,000& * 1/12 = 1/30 » 202 10,437
ool sl 50,000& = 9% « 123 5,400
o Mg E XY 19,020
Hed 55 250,000& = 1¥ = 123 3,000
CHSA LS 250,000& * 298 = 12& 6,000
- HSA Cha 155,000& » 29 » 128 3,720
- HSA eks 140,000& » 3H » 128 5,040
- HLE Ots 105,000& » 1H » 128 1,260
OX™ <M &I 773,099,000& * 2.8% 21,647
204 R LAY 1,690,200 1,642,260 47,940
02 22 =4 1,690,200 1,642,260 47,940
OAl & 650,000& = 1¥ = 123 7,800
ORANE 500,000& = 1¥ = 123 6,000
o= &((4=) 400,000 = 6Y = 123 28,800
Ob= 250,000& = 589 » 128 174,000
O6= 155,000& » 239 » 12& 444,540
Oor= 140,000 » 2449 » 128 409,920
O8~9= 105,000& *» 2999 » 12& 376,740
OHA A 155,000& » 3H » 12& 5,580
OJls6s 155,000& » 159 » 12& 27,900
OJls7=2 140,000 » 459 » 128 75,600
OJ1s8~93 105,000& = 1029 » 128 128,520
OE&6= 155,000& » 1H » 128 1,860
Oog3d7= 140,000& = 1¥ = 123 1,680
OE &8s 105,000& » 1H » 128 1,260
SO|H 22 ol AH| X8 818,603 1,023,228 795,375
jellala] ,818,603 1,023,228 795,375
RIHAHAAZ2 U E = ,818,603 1,023,228 795,375
O RIHAZZX el2] ,818,603
cJllE2s 736,197
HEE X 1,207,050& = 128 » 349 492,477
LR 1,259,530& » 12& * 13%¥ 196,487
ol 1,312,010& » 128 » 3% 47,233
oc¥I2g 61,351
HHE X 1,207,050& = 100% * 34Y 41,040
SR 1,259,530& » 100% * 13 16,374
Yo 1,312,001& = 100% * 3¥ 3,937




= : SH
A [==)
ZH - SH
B
2 ol

2= SA EAHL
23U (31 (I1EH/IIE)
goI(5Z)

AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
oa03 237,516
HEE X 1,207,050& = 400% * 34% 164,159
SR 1,259,300& * 400% * 13 65,484
Yo 1,312,010& » 200% * 3¥ 7,873
o H A F O 73,621
e
1,207,050& * 60% * 23| * 34 49,248
HELD
1,259,530& * 60% * 23| * 13 19,649
= ofole
1,312,0102 * 60% * 23| * 3Y¥ 4,724
cHIRSFIIH=E 103,740
HHE X 98,7673 * 20 x 349 67,162
LR 110,194 » 202 » 139 28,651
HHols 132,102& = 202 » 3Y 7,927
o A2t 22=¢ 155,609
HEEB X
12,3463 * 34H » 20A12t » 1204 & 100,744
HELR
13,7743 * 138 » 20A12t » 1204 & 42,975
e el
16,5132 » 3H » 20AI12F » 1201 & 11,890
o Z A G A 79,080
HEYEX L HELR
130,000& = 4798 = 1203 73,320
AL 160,000& = 3% » 12042 5,760
oMY (HHOIR)
1,582,010& » 250% * 3% 11,866
o JHH 2 X4l 110,000& = 50 = 12013 66,000
cuwsExH| 140,000& = 5098 = 1201 & 84,000
oltHEH EXE 83,818
nsshM 419,090 = 509 « 43| 83,818
cIltExY 48,000
i < Xt 40,000 * 502 = 120H& 24,000
= 20,000 = 100 » 1204 & 24,000
Sl =1 77,805
HYSE X
12,3463 * 34H » 10AI2t » 12042 50,372
SELR
13,7742 = 13F » 10AI2F = 1201 & 21,488
AL
16,5133 = 3% = 10AI2F « 1201 & 5,945
StEE NASXNEEHMA HE XA 420,000 202,500 217,500
= 294,000
Al 126,000




SA EAHL

AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
101 2124 4| 420,000 202,500 217,500
=2 294,000
Al 126,000
01 B 420,000 202,500 217,500
OAaI 2 X2 (92) 2,500,000 * 14 = 12€ 420,000
= 294,000
Al 126,000
Jl2&Hl 170,720 162,600 8,120
Jl23Hl 170,720 162,600 8,120
201 et A | 20,700 20,700 0
01 At 22l ] 20,700 20,700 0
Ogst2H| 20,700
oHIANIES F*¢L 200,000& = 12& 2,400
oHHAH A2 P 100,000& * 128 1,200
o J|Et =&H| 7,100,000 * 14 7,100
SF= NN 5,000& * 40¥ x 504 10,000
202 04| 6,500 9,600 A 3,100
01 2L Y| 6,500 9,600 A 3,100
O JISgRaH0b| 6,500,000 * 14 6,500
203 PR =&Y| 4,560 4,740 A 180
04 BN2YAR=TY 4,560 4,740 A 180
ORNMSEIRFA 380,000& 128 4,560
204 & 2 =S A H| 138,960 127,560 11,400
EEEEEPSTET 138,960 127,560 11,400
OAl& 650,000& = 194 12& 7,800
ORAE 600,000& = 14 128 7,200
Oo=& 350,0008 » 6Y 128 25,200
O53 97,800
oAl I AX 100,000& = 50™ 128 60,000
ocg.H.SE(IIAF)
150,000& = 21H 128 37,800
oublzsH&E 80,000& » 1Y% 128 960




A & 0l & AF 2 E A A
A= dIAXNE= FM o HEEAE]
M MU (BsL22/H=)
g4 dEHEsd (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
M=E=d32ED 10,040,276 8,666,767 1,373,509
J| 440,061
< 342,386
Al 9,257,829
HEedE (2322 /HS) 8,791,224 7,431,497 1,359,727
J| 216,583
< 317,686
Al 8,256,955
HEMESSH 5,040,854 5,126,978 A 86,124
=3 X 657,745 533,293 124,452
301 et a =z 192,445 106,593 85,852
12JIEBE243 192,445 106,593 85,852
OXM=3l el 143,683
oMNE=RF 50,000,000& = 1H 50,000
ocHREX(72) 1,607,400& » 3H » 128 57,867
oHdRE X (92) 1,492,300& * 29 » 123 35,816
O=cl =44 26,400
o HE S IHHI 960,000& = 5% = 23] 9,600
cltE=¢ 30,0008 = 5% x 12& 1,800
o g Al 130,000& * 5¢% » 128 7,800
oAlZ2te 2R
8,000& = 15AI2t » 5 * 12& 7,200
Ox&ERE=3 13,852
o=ZAS 143,683,000& * 4.5% 6,466
cAAZBHEE 143,683,000& * 2.24% 3,219
cRABEE 3,219,000& = 6.65% 215
cIEEEE 143,683,000& * 1.75% 2,515
ocMUEE = 143,683,000& *1% 1,437
OEIARES 1,702,000& * 5% 8,510
307 glz2tol & 465,300 426,700 38,600
02 QI2tFAB X 451,000 412,400 38,600
ogtzg s 8x3 451,000
oc™MAXEZ A HiXI
1,750,000& * 129 » 129 252,000
oH=3 ¥R 23l 1,000,000& * 12& 12,000
ocHE3 ¥ BSHI(ZE)
250,000& « 123 3,000
ox=4 ¥ 50t 22
30,000,000& * 14l 30,000
oRxdexxsd ¥ Stug FH
60,000,000 * 14l 60,000
oSAsdd 2l 10,000,000 * 14 10,000
cHU=7E 243 29
60,000,000 = 14l 60,000




SH-EB .S (3H) - MEAY - BES 0 AF o il HZS2
oMK (HMIO0IA) HA&X AS
24,000,000& * 14 24,000
03 MBIHAEXS 14,300 14,300 0
OMSBIEH XI& 14,300,000& * 14 14,300
ERAH2Y 1,870,787 2,043,864 AN 173,077
101 @121l 13,534 13,062 472
04 JI2ZtHI 22 XNEE 13,534 13,062 472
Og=Aazelol 13,534
oJlgaz 45,800 * 1Y x 2302 10,534
oxmY 45,800 + 19 = 46 2,107
o HAXt G 45,8003 * 1% x 11 504
clEEE 13,145,000& = 1.95% 257
opNTHEH 13,145,000& * 1% 132
202 (4] 11,000 11,832 N 832
01 2L Y| 11,000 11,832 832
O=TR04al &It L& ofyl
11,000,000& * 14 11,000
301 dEtEAZ 1,781,253 1,758,970 22,283
NMolsda - 289 = 1,781,253 1,758,970 22,283
os+=8 20 891,000
o 3K 40,000,000& = 14 40,000
cEgloly 37,000,000& *» 1Y 37,000
oMMEEH Y 28,000,000& *» 1Y 28,000
ocEZHx 39,000,000& * 4Y 156,000
oAl &= 35,000,000 * 69 210,000
oBzd &= 30,000,000& * 6Y 180,000
otg &= 25,000,000& * 6Y 150,000
oDz &= 15,000,000& * 64H 90,000
oAxs+Y 295,600
o ==Y| 4,000& = 308 x 280 33,600
oILAZ 700,000 = 30Y =*23l 42,000
ol 10,000,000& * 223 220,000
o4ty 8= 93,153
o=mAZ 891,000,000& = 4.5% 40,095
ocAdUEHEE 891,000,000& =* 2.82% 25,127
ocQUYEE= 25,127,000 * 6.55% 1,646
ocllEHEHE 891,000,000& * 1.95% 17,375
o{tEE & 891,000,000& * 1% 8,910
Ofx 232 53,000,000& * 14 53,000
O 29| 207,000
o=dad 7,000,000& * 14 7,000




M ox
40 5 4

D EExE
CHEMNE
CEEASE

[

- S A S(SIH) - A - B O 4t o8 il

FH) 24,000,000 = 14l 24,000

140,000, 000& 14 140,000

12,000,000 14 12,000

6,000,000& 14 6,000

18,000,000 14 18,000

O 30,000, 000& 14 30,000

O S 137,500

=4 100,000, 000& 14l 100,000

PAEN] 18,000, 000& 14 18,000

29| 2,500,000& 14l 2,500
2222(HJIe=s 5)

1,000,000& =x 12& 12,000

o & A& 1,500,000& * 23| 3,000

oMagsE F2¢ 1,000,000& 23] 2,000

OASE 3| 30,000,000 13 30,000

Oogst249| 30,000,000 14 30,000

OUMdEeld 28 24| 14,000

o2& X 5,000,000& 14 5,000

oML 2 1,500, 000& 63 9,000

307 QI2+0I & 50,000

04 QI2tSHALE & 50,000

ousdd 224l 30,000,000 14 30,000

Oz 22 20,000,000 14l 20,000

405 Xt 15,000

01 X+ 15,000
Ol -2

15,000,000 14l 15,000

sazey 529,083

301 & 519,083

11 0l= = 519,083

O=4a= 339,000

o Xl & X} 40,000,000 19 40,000

oEgd = 45,000,000& 13 45,000

oAz & 38,000,000& 5 190,000

oBza A 32,000,000 29 64,000

oxs4 48,000

o QUHHIL AL S 12,000,000 14 12,000

o SHEIZAZ 6,000,000 14] 6,000

o=xJlE ¢ 6,000,000 14 6,000

ozdad 200,000& = 99 * 12& 21,600

SPNE== 200,000& ~ 1¥H * 12& 2,400




ER TN EE SN HSHAED
B HSNS(2HLDBY/AS)
Crel: MEHSRA SRED)
CRA - FE - S(BH) - HRAY - BES il 2t
S| 6,000,000& * 14! 6,000
o4l 282 35,443
oZ0AI = 339,000,000& * 4.5% 15,255
ocHLUEEE 339,000,000& = 2.82% 9,560
cRUASBEE 9,560,000& = 6.55% 627
clNEEEE 339,000,000& * 1.95% 6,611
oM EESZ 339,000,000 * 1% 3,390
O 24l 45,540
o8& KX 2,500,000 * 14l 2,500
oMXE &I 13,000,000& = 14l 13,000
olisl E=AH 13,000,000& * 14l 13,000
o 24X 24l 60,0003 * 9 =« 63l 3,240
CcEHES I 3,000,000 * 14 3,000
oIl =l 600,000& * 9H =« 23| 10,800
Og=s4a 29l 43,100
o g Al 30,000,000& * 14l 30,000
o ZHAIH| 5,500,000& = 14 5,500
o2 JHl 2,000,000& * 14l 2,000
oB3ER=S 300,000& * 12& 3,600
o2& ZHl 1,000,000& * 14l 1,000
oM EFH 1,000,000& * 14 1,000
Oagg 3l 2,000,000& = 12 2,000
405 XHobF S HI 10,000 7,000 3,000
01 AL =2 ZFH S| 10,000 7,000 3,000
OJIXM & 2s&FH +
10,000,000& * 14 10,000
RERRY 320,619 317,319 3,300
301 L2 A3 313,619 310,319 3,300
Nozst - 2S2S243 313,619 310,319 3,300
ORER =0 180,000
SPNEDN; 40,000,000& * 1Y 40,000
cEgd 45,000,000& = 19 45,000
cAs = 38,000,000& » 19¥ 38,000
oBzgd = 32,000,000& » 19H 32,000
otad=> 25,000,000& » 19¥ 25,000
oxs+¢ 34,400
c Bt AZ 12,000,000 * 14l 12,000
ocEERNZ 2,000,000& * 14 2,000
o= JtESY 500,000& = 1& = 123 6,000
czdd 200,000& = 5% = 123 12,000
ocXEg 200,000& = 1& = 123 2,400




SIE (2L /HE)
HNE2XN=E=H (&2 &)
SA-EY . BH(3H) - NEAY - BYS 0 Ak o8 ﬁlf& HDS2
O=<dl 4,000& = 59 * 280 5,600
oOxs8Y2 18,819
o=x0AHAZ = 180,000,000 * 4.5% 8,100
ocAUEHEE 180,000,000& * 2.82% 5,076
ocMINQLULEE= 5,076,000& * 6.55% 333
cllEEEHEE 180,000,000& = 1.95% 3,510
optTHEE 2 180,000,000& * 1% 1,800
(@)= ESE g =g= 5,000,000& * 3Y 15,000
O8 2494 29,600
ozd&dH| 2,000,000& = 14l 2,000
oM Xl E&H| 5,000,000& * 14 5,000
olg & 9,000,000& * 14 9,000
o2 AX = 60,000& *» 58 * 63 1,800
ocEHEE P 5,000,000& * 14 5,000
o Il =H| 3,000,000& = 14 3,000
o &H| 28| 700,000 = 43| 2,800
o &Hl || 1,000,000& * 14 1,000
Oog=A 29 29,200
S= NN 17,000,000& * 14 17,000
o 2HAH| 3,000,000& = 14! 3,000
o249l 1,500,000& * 14! 1,500
o S H| 350,000 * 63 2,100
ossRa 300,000& = 12& 3,600
o B & &b 1,000,000& * 14 1,000
oMEgE 1,000,000& = 14! 1,000
OAHE 3| 1,000,000& * 14 1,000
405 XtabF SHI 7,000 7,000 0
01 XML 2 FF S| 7,000 7,000 0
OJIXNM &€ 2s&d ¢ 7,000,000& = 14! 7,000
BlARE2Y 492,935 379,806 113,129
301 LprE a3 485,935 372,806 113,129
MU= - 2S2ESEA2 485,935 372,806 113,129
ogasg 20 263,000
o X & Xt 40,000,000& ~ 1H 40,000
ocEZH 45,000,000& ~ 1H 45,000
oA N 38,000,000& * 3H 114,000
oBzg &% 32,000,000& * 2Y 64,000
oxs=Y 42,300
o UBHIL ALS 2,000,000& * 3¥ * 23| 12,000
oEYIIAZ 1,700,000& = 3 5,100
o=xmJIEsLY 500,000& * 1 = 12& 6,000




SEREE W SN HSHAED
HH: HSHE(2HUDY
©el: MRS S A:Ee)
224 B BN NRAY - BES 0] &b 2 il 2t
cEE+g 200,008 » 7% » 122 16,800
oXNE4+Y 200,000 * 1% * 128 2,400
o==y| 4,00090 * 7% * 2802 7,840
SEIELH= 27,475
c=pIeizE 263,000,000 * 4.5% 1,835
cAYRHE 263,000,000 * 2.82% 7.417
oXIYRHE 7,076,0002 * 6.55% 464
cn8=EE 263,000,000%! * 1.95% 5.129
S L] 263,000,000 * 1% 2,630
osxeg3 5.000,0008 = 3% 15,000
ogegl 53,820
cEp Y| 300,000 * 122 3,600
ST 1,000,00080 * 79 * 23] 14,000
o3& H bl 500,0008 * 79 * 53] 17,500
o= &% 2| 60,0008 * 7% * 63l 2,520
cERBEY| 800,008 * 79 « 23] 1,200
oI = 4,000,0002 * 14} 4,000
o HHIR NI ,000,0008 * 14] 1,000
Of4d% NAZ 10,000,000 * 1% 10,000
Oszr2Y 35,500
o 24| 22,000,0008! * 14} 22,000
o2t Al 4,000,0008 * 14 4,000
o2 150,008 * 122 1,800
oozl 75,0008 * 122 2,100
c3323 300,000 * 12 3,600
o8I 1,000,002 * 14] 1,000
cMEBEE 1,000,000 * 141 1,000
O2EA& o 2,500,0002 = 122 30,000
oagg 3l 1,000,0008 * 13| 1,000
405 XH&H 3 S b 7,000 7,000 0
01 HUSEFHS 7,000 7,000 0
O < 29 7,000,0008 * 14 7,000
SN 155, 139 151,899 3,240
301 LB 148, 139 144,899 3,240
nojzse -2 &2 148, 139 144,899 3,240
O ZH0H 01 AL 83,000
cs3H+ 45,000,008 * 19 45,000
cAZH % 38,000,0002 * 1% 38,000
OAE+Y 17,000
cYyBEy 4,500,0002 * 144 4,500
cSgmY 1,700,0008 * 14] 1,700




M ox
40 5 4

SN -H B (FH) - NEAY - BAS il
o3 JIESE 6,000,000& = 14 6,000
oz 200,000 = 2% * 12& 4,800
O=s2H| 2,240,000 = 14! 2,240
oOxs2Y2 8,679
o=0AHZ = 83,000,000& * 4.5% 3,735
ocAUEBHEHE 83,000,000& = 2.82% 2,341
ocMIIRAESE= 2,341,000& * 6.55% 154
cllEEEE 83,000,000& = 1.95% 1,619
optTHEE & 83,000,000& * 1% 830
QEAREYZ 3,000,000& = 24H 6,000
O 2%H| 17,720
ozd&dH| 2,000,000& 14 2,000
oM Z&| 4,000,000 14 4,000
ol =& 6,000,000 14 6,000
o2 AX = 720,000 14] 720
oczdgE+1Y 2,800,000& 14 2,800
o Il =H| 1,200,000& 14] 1,200
o &Hl 7 X4l 1,000,000& 14 1,000
Ogt=s4A2d9 12,500
o g AlH| 8,000,000& Al 8,000
o 2HAH| 1,500,000 Al 1,500
o 23 H| 3,000,000& Al 3,000
OAHE 3lH| 1,000,000 Al 1,000
405 KHoHFE S HI 7,000 7,000
01 JHAtY 2 Z F S H 7,000 7,000
OJIXMM &€ S2s&d ¢ 7,000,000 Al 7,000
CEEEEY 143,512 152,352
301 dEtE A= 136,512 145,352
Mot - 2sSESE243 136,512 145,352
OPQIgtoEXHE 20 77,000
ocEZ 40 A 45,000,000 H 45,000
oBz & 32,000,000& A 32,000
oOxds4 9,800
o B AS 2,500,000& Al 2,500
oEYIAZ 2,000,000& Al 2,000
oxmJIlEsY 500,000& = 1H 500
ozd4g 200,000& = 2¥ * 12& 4,800
O==H| 4,000 * 2% * 280 2,240
oxs842 8,052
o=x0dHZ = 77,000,000& * 4.5% 3,465
ocAUEHEE 77,000,000& * 2.82% 2,172




NEIE T bR SN HSZAED
HH: MINE(2I}LZ2Z/AF)
©el: MRS S (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HR=
oMINQLUEE = 2,172,000& * 6.55% 143
ocllE8EEHEE 77,000,000& = 1.95% 1,502
optTHEE 2 77,000,000& * 1% 770
(@)= ESEg=a= 3,500,000& = 29¥ 7,000
Oga&gHl 15,620
o= g 2,500,000 * 14 2,500
oM X =&l 4,000,000& * 14 4,000
ol &H&H| 4,000,000& * 14 4,000
o B AX = 720,000 * 14 720
oczdgsry 3,200,000& = 14l 3,200
o Il = H| 1,200,000& * 14 1,200
Ogt=s429 15,800
o g AlH| 7,000,000& * 14 7,000
o 2HAH| 1,500,000& = 14l 1,500
o 2dH| 1,800,000& * 14 1,800
o= Hl 2,100,000& = 14! 2,100
o332 2,400,000 * 14 2,400
ocMEg2E 1,000,000& * 14 1,000
OAHE 3| 1,000,000& = 14! 1,000
405 XH&HF S HI 7,000 7,000 0
01 JHMY 2 E F S H 7,000 7,000 0
OJIXNM &€ 284l 2 7,000,000& ~ 14! 7,000
25 sSAM=s22Y 19,534 19,062 472
101 @1 21| 13,534 13,062 472
04 JIZtHI2EXNSEE > 13,534 13,062 472
Oatel ol 13,145
SR =] 45,8003 * 1Y = 230 10,534
oFFLE 45,800 * 1Y x 46 2,107
SRS E=, 45,8008 * 19 x 1Y 504
oxs842 389
SHIE= 3k 13,145,000& * 1.95% 257
o THEH 13,145,000& * 1% 132
201 Yet2 | 6,000 6,000 0
02 352494 6,000 6,000 0
O2222 2 MA 5,000
olMII=2,9=2Hl S 5,000,000& * 14 5,000
OANEZEHSXH(EE2 28
1,000,000& * 14 1,000
HENEEHE 298I 6,000 6,000 0
202 04| 5,000 5,000 0
01 2LH O HI 5,000 5,000 0




S(2YAZ/HR)
=54 (e &)
K- =32 B6(3) - ASAY - BYS 0 AF o il HZS2
ON=sdd g4 1,000,000& x 5% 5,000
AR =&Y 1,000 1,000 0
AHF=XHRFAY| 1,000 1,000 0
Od=zZMEssd g2FA 1,000,000& = 14 1,000
ZTHHAXA 798,500 811,500 A 13,000
oI2t0| & 798,500 811,500 A 13,000
DI2FSHALE & 798,500 811,500 A 13,000
ON=AZ2UI X 358,000
oM & A It 13,000,000& * 14 13,000
oI =dHE X 10,000,000& * 14 10,000
odM=RE HZUS (3M)
270,000,000& = 14 270,000
CcAEINEIEEH=EZ=US
40,000,000 = 14 40,000
oclE0FREUE EOH 5,000,000& * 14 5,000
cIlE M= 2US XA
20,000,000& * 14 20,000
OERZ2UHE XA 375,000
o M483| I HEEIIY ER2U3 KX
290,000,000& = 14 290,000
oUIA T AEMY A E I} 25,000,000& * 14 25,000
oS OIXA GiEtAl AHl  25,000,000& * 14 25,000
oJIEt ER2UE XA 35,000,000& * 14 35,000
OANTAR2UI XS 45,500
o M183] =FHUS EHI|HI
2,500,000& * 14 2,500
o M183 ORI AIIUSE
8,000,000& * 14 8,000
o M63l AIEIl BZME  5,000,000& * 14! 5,000
c2013sHAEEZI D 15,000,000& * 14 15,000
SIIEIAARZTE 15,000,000& * 14 15,000
OZ=XAIITHE & Dt 20,000
oM143 =,5 SAWUS 5,000,000& * 14| 5,000
o Ml143 =g U3 5,000,000& * 14 5,000
oM173 2 U3 2,000,000& = 14 2,000
o H193 ==U3 2,000,000& = 14 2,000
o Ml 183l EHH =S 2,000,000& * 14 2,000
o H193 2 E=U3 1,500,000& = 14 1,500
o HI253 =T U3 1,500,000& * 14! 1,500
oUJATXIAH ECIEY U3
1,000,000 * 14! 1,000
SRH HBASK RET 47,000 43,000 4,000
2 8H2 A H| 45,000 42,000 3,000




M ox
40 5 4

HYN A= SN HS
HSEE(SHLRB/HE)
HeHSSY

2 2A B E(AN) - MEAY - BYS il HlnE2
01 At 22l 35,000 32,000 3,000
OArS 22l 35,000
CAZHI Y Y2X
20,000,000 = 14l 20,000
o@AZE XZ 15,000,000& * 14 15,000
03 A2 Z Hl 10,000 10,000 0
OgzgdE =i XA 10,000,000 * 14 10,000
301 L2 A F 2,000 1,000 1,000
12 JIEtE4 3 2,000 1,000 1,000
OSYEFS AXY 243
2,000,000& * 14l 2,000
MEHESSY 1,039,670 1,030, 382 9,288
| 171,583
< 17,686
Al 850,401
MEHS XA 61,000 111,342 A50,342
307 glz2tol & 61,000 24,400 36,600
02 RIZHE A E X 61,000 24,400 36,600
OMetx=s RSl 1,000,000& = 12& 12,000
OMeH=s NEX22Y
13,000,000 * 1 13,000
OMEBUSSIT2 Y U W 29
6,000,000& * 14! 6,000
OS2I HEUHSNI ALY
30,000,000 = 14 30,000
MBS AKX 526,000 564,500 238,500
307 glz2+ol & 526,000 564,500 A 38,500
04 QIZHSHALE = 526,000 564,500 A 38,500
A7 203 XA 324,000
o M253 Lol & IEILIAMS
11,000,000 * 14 11,000
oM123 MIINFEFUS
15,000,000 * 14 15,000
o Mosl ZEUIMIHECIENS
20,000,000 * 14 20,000
SBRMI RRAUSTIYNS
150,000,000 * 14 150,000
oM11E H2aZESASUE
35,000,000 * 14 35,000
o M133 ZEUICIHE =S U3
3,000,000 * 14 3,000
oM 118 ZEUICIOI2IEU 3
45,000,000& = 14! 45,000
o M43 ZCMESFSII T MIAAAIZH
tH =l 10,000,000 * 14 10,000




M ox
40 5 4

SN B CH(HN) - MM - BES 0l &t o il HDEZ
o M1438 HEs| I MEaHE HAES
5,000,000 5,000
oJIEt =203 X
30,000,000& = 30,000
ORI XA 33,000
o M16=l Bi2OH=l 2,500,000& = 14 2,500
o X208 MEMEUZ 1,000,000& Al 1,000
o M14sl 502 3,500,000& = 14 3,500
o M14% BHESQIEHW 3 1,500,000& = 14 1,500
o M142] A 2ctolE U=l
2,000,000& = 14l 2,000
o M242] HNOIE=U = 2,500,000& Al 2,500
o M253 MEZUE 1,000, 000& 4 1,000
o M1238 &3l 2,500,000& Al 2,500
o M133 HUAME 2,500,000& 4 2,500
o M55 OFRCHE 1,500,000& Al 1,500
o M53 diCt==& 3l 1,000,000& = 14 1,000
o M43 ZAU3E 1,500,000 = 14 1,500
o M3a XAEAHU2 1,500,000& Al 1,500
o M143 EFU3 1,500,000 = 14l 1,500
=JIet ERE03 7,000,000& * 14 7,000
OANRZUHE XA 80,000
o M4a ZEANUMEH SIS
80,000, 000& 4 80,000
OZOoHeItHal XI & 40,000
o M6z 2N
20,000,000& Al 20,000
= J|EHEOH QI CH & 20,000,000& 4 20,000
OJIEttHE X & 49,000
c2013Z2EHENMETNSUS
12,000,000& Al 12,000
oML AEIN S 10,000, 000& A 10,000
oESERXSEA=SUF It
5,000,000 4| 5,000
o2AZEN0E=S &I 2,000,000& » 1A 2,000
=JIE sl X& 20,000,000& = 14 20,000
M e = X & XHoH X 176,640 176,640
J| 88,320
Al 88,320
307 glz2tol & 176,640 176,640
J| 88,320
Al 88,320
02 plZtF A2 X 176,640 176,640
OMEXN=XTA HHX 176,640,000& = 1 176,640
J| 88,320




= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
| Al 88,320
HEaN=8skad 88,320 0 88,320
J| 44,160
Al 44,160
307 gl2tol & 88,320 0 88,320
J| 44,160
Al 44,160
02 RIZHE A E X 88,320 0 88,320
onza Msgs XXt BiXl
88,320,000& » 14! 88,320
J| 44,160
Al 44,160
AL IHISH AEAY 51,240 0 51,240
J| 35,868
< 7,686
Al 7,686
301 L2 A3 51,240 0 51,240
J| 35,868
< 7,686
Al 7,686
01 Ml2ZE 6= 51,240 0 51,240
OAZ= HIRH ALY 51,240,000& » 14! 51,240
J| 35,868
< 7,686
Al 7,686
MeExss 2IAA 6,470 336,540 A 330,070
J| 3,235
Al 3,235
307 glz2+ol & 6,470 336,540 A 330,070
J| 3,235
Al 3,235
02 RIZHEAMNE R 6,470 336,540 A 330,070
OoMetx=s 2IXA 6,470,000& » 14! 6,470
J| 3,235
Al 3,235
dassd 234 10,000 10,000 0
202 odl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
OAZZDANY BHALEX
3,000,000 = 3H 9,000
203 YR =2l 1,000 1,000 0
03 AIBFXH S Z=AY| 1,000 1,000 0
OAZ=0IAE H2FA 1,000,000& * 14l 1,000
20132 M 2 X = el =4l 100,000 8,000 92,000
201 Let4d] 70,000 8,000 62,000




- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
03 &Ar2 I 70,000 0 70,000
O & "g8A =l 70,000,000& = 14 70,000
401 AIEHI L 201 30,000 0 30,000
04 S AH2tE Al & HI 30,000 0 30,000
OFIF A& 24 o =8 Fy|
30,000,000 = 14l 30,000
H11s ZEQE &= Z0HQ EFHSE 20,000 0 20,000
< 10,000
Al 10,000
307 21201 A 20,000 0 20,000
< 10,000
Al 10,000
04 QIZtHALE & 20,000 0 20,000
OM11el GNE d=F0H2 EFUHE
20,000,000 » 14! 20,000
< 10,000
Al 10,000
HMEIIEtAIZ &= 2,118,700 1,274,137 844,563
J| 45,000
< 300,000
Al 1,773,700
=23 Fl 40,000 81,000 241,000
401 Al HIZ 2018 30,000 81,000 251,000
01 A& HI 30,000 80,000 A50,000
OZ=E=2sd EdoelZE 2
30,000,000& = 14l 30,000
405 XHoHF S HI 10,000 0 10,000
01 et EZFH S 10,000 0 10,000
OL=2sd 7Y 10,000,000& * 14 10,000
2Es733 E4 840,000 0 840,000
< 200,000
Al 640,000
401 AIEHI L 20HYI 840,000 0 840,000
< 200,000
Al 640,000
01 A& HI 838,000 0 838,000
Oodg =223 &l 838,000
ST ANAEANE HBZE EHHI
30,000,000& * 14 30,000
oHSALE HAEX 0HSH|
410,000,000& * 14 410,000
odEETSE M27E OFAXZHER EX3
At 398,000,000 * 14l 398,000
S 199,000




M ox
40 5 4

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Al 199,000
03 AlE 201 | 2,000 0 2,000
OAI& 20| 2,000,000 14!l 2,000
o= 1,000
Al 1,000
HHEEX HNSAE2Y 494,200 82,280 411,920
201 et | 59,200 52,280 6,920
01 AP 22| H| 40,000 35,000 5,000
OMEANEH B2EXAIZ22(8EX])
30,000,000& * 13| 30,000
OANERX & A2EF 2¢ 500,000& = 103 5,000
OM=sA&EEH &d Xt 5,000,000& * 14 5,000
02 B32ZH| 19,200 17,280 1,920
OZ2Z22Y%H|(ZE2HE ,Z4% XY MIIL3)
160,000 =100 A = 12&€ 19,200
401 AlEHIZL 2 0HY| 435,000 30,000 405,000
01 Al&EH| 435,000 30,000 405,000
OMEANYE SXNEE=(THA)
35,000,000 * 14! 35,000
OdUad EX HOEESH QXL &X(8H)
400,000,000 * 14! 400,000
SHSHSANE X € B4 360,500 402,000 A 41,500
401 AlEHIZL £ 0HY| 360,500 402,000 A 41,500
01 Al&HI 358,500 400,000 A41,500
OAlI&H| 358,500
oEAXIMSE ABALE B2 A
40,000,000& * 14! 40,000
ocSUHMSAIE WA & A4
200,000,000& = 14l 200,000
oFzd AUMESE B4 18,500,000 14 18,500
odd s AN B85S HOIESE AXE(L
A (MEEEZ) 100,000,000& = 14l 100,000
03 Al&E 201 Y| 2,000 2,000 0
OAI& 20| 2,000,000 = 14! 2,000
HSIBAIEESE 2H A 4,000 4,000 0
202 04| 3,000 3,000 0
01 2Ll 3,000 3,000 0
ONMESAE FRFA 1,000,000& * 39 3,000
203 €2 F=&d| 1,000 1,000 0
03 Al ZH =X 2= XIH| 1,000 1,000 0
OMEFIIBAIEES RFA
1,000,000& * 14! 1,000




HEIIALES (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
SHEE 2 ME Hs3sE 24 30,000 0 30,000
401 Al I 2 O8I 30,000 0 30,000
01 A& Bl 30,000 0 30,000
OUXNEE JI=ZZAMBA(EXNTL AEEE D
S 8HEXIA ) 30,000,000& * 14 30,000
ZEEERSE B 150,000 0 150,000
J| 45,000
Al 105,000
401 AIEBIZ 28I 150,000 0 150,000
| 45,000
Al 105,000
01 A& HI 149,000 0 149,000
OZEe2sZ ZHER TMIAL A&
3,000,000& =14 3,000
J| 900
Al 2,100
OZE2sd ZHEH TAI AL AlEHI
146,000,000 * 14 146,000
J| 43,800
Al 102,200
03 AIE 2 THHI 1,000 0 1,000
OZEe2=Z ZHER TMIA AIER0UHI
1,000,000& 14 1,000
| 300
Al 700
ZENTE B A 200,000 0 200,000
< 100,000
Al 100,000
401 AIEHIZ 28I 200,000 0 200,000
= 100,000
Al 100,000
01 A& Bl 199,000 0 199,000
OLE OF7E ANEE=3A
199,000, 000& 14 199,000
< 99,500
Al 99,500
03 Al 2 THHI 1,000 0 1,000
OAIE =TI 1,000,000& 14 1,000
< 500
Al 500
SEMsAYE 22 592,000 0 592,000
SEMsAME N3 592,000 0 592,000
201 LBH2EH| 592,000 0 592,000
01 At 22/l 592,000 0 592,000
OYpt+gH| 592,000




N SN ASHELAD
& ZH 2E/HE)
o 2| J CER-ED
. - 4 14
SES(BH) - HEAY - B2 Ofl At o4 %Eﬁ HR=2
X dot4==24H] 500,0008 * 42 0| 2,000
SYHHE(F) EXYHZ(24)
440,000,000 = 14! 440,000
SY®HE(F) MAHA
150,000,0008 = 14l 150,000
Haod B35 ABIEX /=0 - HAWA) 1,220,172 1,004,970 215,202
J| 223,478
& 24,700
Al 971,994
HAaEu=sH 1,220,172 1,004,970 215,202
J| 223,478
= 24,700
Al 971,994
120,430 100, 190 20,240
17,430 5,890 11,540
Hl 7,430 5,890 1,540
222l 1,200
HAaUEsLIU=2 100,000& * 12& 1,200
= 2| 1,400
HAESHAANE S S4Y)
1,400,000& * 14! 1,400
210
sH2XNFY EXNYX=
210,0008 = 14l 210

g &« 3o=d 4,620

70,000% * 11E = 43 3,080
T 2g82s 3o+
70,000% * 11E = 23 1,540
10,000 0 10,000
e & 243 &AL XI&
10,000,000& * 14 10,000
3,000 1,000 2,000
243 3,000 1,000 2,000
ALK A 3,000,000 = 14 3,000
100,000 93,300 6,700
= 45,000 43,300 1,700
e =DNR] 45,000,000& * 14! 45,000
ES 55,000 0 55,000
H AEAY XIR
35,000,000& * 14 35,000
S2L2F XJ  20,000,000& = 14 20,000

29 467,847 343,972 123,875




M ox
40 5 4

S (MI=EX/0 - F

SAH-EH . B (3H) - HEAY - B il 2
101 @121l 112,601 87,820 24,781
04 JI2ZtH2Z2XNHEE 112,601 87,820 24,781
osg9ex 25,900
oJlE2 39,000& * 29 = 230 17,940
oFEY 39,0008 * 2¥ x 46 3,588
oHIXI=H 39,000& * 29 x 11¢ 858
SNEIXIPYE!
7,3203 * 20A12F » 29 x 12& 3,514
OFA0E 15,207
oJl2z 45,8003 * 1Y = 230 10,534
oFFs4x Y 45,8003 * 1Y = 46 2,107
o AR 45,8008 * 1% » 11 504
oAl 2t =& 8,590& * 20Al2t = 128 2,062
oOAxEsRES 769
ocllg8&8s 15,206,200& * 1.95% 297
oMIMEE = 15,206,200 * 3.1% 472
OFAE X T A 63,591
oJlga 1,620,000& * 39 * 12& 58,320
o A2t
7,320& * 20A12F = 3YH * 128 5,271
OAUSELS(HAEUXT AL 3,213
ocllEHEHE 63,590,400& * 1.95% 1,241
o{tMEE & 63,590,400 * 3.1% 1,972
OA=E2LZ2(HAEHXI XA 3,921
o=mdA=Z& 22,000,000& * 4.5% 990
ocHUBE = 22,000,000& = 2.82% 621
oMIQLULEE = 621,000& * 6.55% 41
ocllg8&8s 22,000,000& = 1.95% 429
oMIEE = 22,000,000& * 1% 220
SRSESE= 10| 1,620,000 * 14 1,620
201 LEr2 9| 212,546 195,252 17,294
01 At 22l Yl 20,440 19,146 1,294
Oget=2H| 17,320
oMEEEZSFY 100,000& * 12& 1,200
ogtEAM=ZT2Y 250,000& = 12& 3,000
SAIRIINAREFL 200,000& = 12& 2,400
o)== M & 1,000,000& * 23] 2,000
o AE TZ2OW SEESHZE
500,000& * 63 3,000
o M & H| 42l Hl 2,000,000& = 14l 2,000
o&d | &2yl 1,180,000& = 14 1,180
o J|Et=2H| 2,000,000& = 14l 2,000




s ¥ SH(MIEN/c - F

SN B CH(HN) - MM - BES 0l &t o il HDEZ
SHMER=EZ 15,000& = 3& * 128 540
O= &t 1,120
o E20HAHI 7,000& * 1989 * 160 1,120
Oogxz 2,000
o223, ZHYX= 500,000& * 43 2,000
02 222 68,106 55,106 13,000
OZZRIUMA 55,950
oclIIR3 3,000,000& = 12& 36,000
oclaR=s 20,0003 = 1CH ~ 123 240
clol+=ZAIER 100,000& * 122 1,200
oHAL HHAMY BEE
1,000,000& = 12l 1,000
oY Serd 2el XA S| 50,000& * 13l 50
oA BHOHM E 3l | 50,000& * 12 50
oHAHSHAIEES Y
500,000& * 12 500
oMIItMEAR 1,000,000& = 13l 1,000
cEINERES 100,000& =+ 23l 200
o ROIFHIAIAY A= 180,0008 » 12E 2,160
oZEHOIXIRAZe HE=
170,000& * 122 2,040
ocXMI|gtM2etHE = 230,000& » 128 2,760
CHAALSHAZAY| 150,000& * 53l 750
oM=XHAEAH 350,000& * 22 700
cEE+NEZH 300,000& * 12 300
oA HAESHH 7,000,000& = 14 7,000
O¢EH (fF&7LHl) 1,000,000 = 43 4,000
Oussed 3 1,100,000 = 14 1,100
OAIE ZHl =X 7,056
o&5dJIE+=" Xl 264,000& = 42 7| 1,056
ocAAIEE+=R A H| 500,000& * 22 1,000
o MI|IKFAEHl 1,000,000& = 14l 1,000
o J|EtARE =4I 4,000,000& * 14 4,000
SHAHZ S HI 124,000 121,000 3,000
O=2sdx2d 124,000
o UAME 60,000,000& = 14 60,000
cZzY AU (A2 7Y)
3,000,000 = 14 3,000
odAHZZYEHE(GVL)2Y
20,000,000& = 14 20,000
ocHeIZZH 29 3,000,000& = 14l 3,000
oc¥AESOI2I2Y 5,000,000& = 12 5,000
oHAHE QHAER 2H
15,000,000& * 14 156,000




P EAE B ¢ KHd(MEEX/EQ -

SH-EB .S (3H) - MEAY - BES 0 AF o il HZS2
o WAAAMNE2Y 13,000,000& =* 1Al 13,000
oXI9AHHAMNITE2H 5,000,000& * 14! 5,000
207 A FOH £ | 3,000 0 3,000
02 & AR EHH| 3,000 0 3,000
OFAdEs2 SHOIX JIsE2d
3,000,000& =* 14 3,000
301 dBtE A= 51,000 15,900 35,100
07 @2tol =2 (4 HI 45,000 0 45,000
OGYLE AY =Z2HnE 212tel 22|04 |
1,500,000& = 304 45,000
10 AR HI 2 A2 6,000 3,900 2,100
OFAMEAHALE A B A 3,000,000& * 1A 3,000
OFAE XN T A=W 1,000,000& = 39 3,000
401 Al HIL 201 80,000 35,000 45,000
01 Al &bl 80,000 35,000 45,000
OBAESZ W22 2A
30,000,000& = 14! 30,000
Os7& R4 E SA 50,000,000& * 14! 50,000
405 XH&HFE S 8,700 10,000 A 1,300
01 JtMt = S F SHI 4,700 7,000 A 2,300
OTvV=¢l 1,000,000& = 1CH 1,000
O XH(HOX,320E) 22 1,000,000& * 14! 1,000
OH=Z Al 1,000,000& = 1CH 1,000
O&=xJ 7¢ 1,000,000& = 1CH 1,000
O2AMd Ml 2 700,000& * 1CH 700
02 &M+t 4,000 3,000 1,000
OEAN7Y 2,000,000& * 14! 2,000
O, gaiare 2,000,000& = 1A 2,000
HAEISE 29 156,539 132,664 23,875
101 @124 54,693 44,308 10,385
04 JI2ZtH22XNHEE 54,693 44,308 10,385
ogge=x 12,950
oJlga2 39,000& * 1% x 230 8,970
oFEY 39,0008 * 1Y x 46 1,794
o Xt 39,000& * 1% » 11 429
oA2te =g
7,320& * 1Y + 20A12+ = 128 1,757
OFA0E 15,207
ocllz2 45,8003 * 19 = 230 10,534
oFFsY 45,800 * 1Y x 46 2,107
o\ Xt 45,8003 =19 » 11 504




2 SH(MI=EX/ce - F

bl

.9 (B H) - HSAMY - B2 0 Ak o8 ﬁlf& HDS2
o A2t =& 8,590& * 20Al2t x 12& 2,062
Azeez 769
ocllg8&8=s 15,207,000& * 1.95% 297
opNtTHEE & 15,207,000& * 3.1% 472
OFAHE XZ A 21,197
ocllz2 1,620,000& = 18 x 12& 19,440
o A2te &%
7,320& * 20A12F » 1Y ~ 12& 1,757
OA=E2H2(FAY XA 649
cllE8EEE 22,000,000& = 1.95% 429
optTHEE & 22,000,000& * 1% 220
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202 o4dl 4,000 4,000 0
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01 At 2t 2l 31,200 31,200 0
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< 11,230
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= 43,588
< 11,230
Al 2,868,800
23 dgLs 524,300 909,000 A 384,700
= 3,000
Al 521,300
ANIEEStuEs 29 30,000 25,000 5,000
= 3,000
Al 27,000
201 2et2d]| 30,000 25,000 5,000
< 3,000
Al 27,000
01 At 2teltl 30,000 25,000 5,000
OASIZESNE ZA=Z 15,000,000& * 14 15,000
< 3,000
Al 12,000
OANgEES NS 2AZ (AIHIFI})
15,000,000& * 14 15,000
SE23 FLEs 25 4,800 3,800 1,000
201 ¢er24l 2,800 1,800 1,000
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oZRF FEsu=s WM
2,000,000 = 14l 2,000
o2g+g 800
oZRAZE3 AU 2MEM =
20,000& = 402 Al 800
303 &3 2,000 2,000 0
01 Z2&= 2,000 2,000 0
OZSRY s3I Ua Al
2,000,000& * 14 2,000
HEZH EUIALY 481,000 691,100 A210,100
201 Let2d]| 102,000 107,600 A5,600
02 2324gHl 102,000 107,600 A5,600
OAl&ZEHl s Xl 102,000
cHFFESEHH KX 2l
8,500,000& * 12& 102,000
405 XHobF S HI 379,000 583,500 A 204,500
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O-zTAIZe X 400,000& * 10CH 4,000
OAZEAN ¢ 142,000
OANAEHZAZLTEN 2HOlMlA
250,000& = 4004 100,000
CHIAMATZERAN ¢ 28,000& = 1,5004 42,000
235 A2 2H B 8,500 9,100 A 600
202 Oddl 7,000 7,600 A 600
01 = LH o4 1l 7,000 7,600 A 600
OZESFA ot 7,000,000& = 1A 7,000
203 YR =&t 1,500 1,500 0
03 Al =AY R =& 1,500 1,500 0
ONBSAIMFX 1,500,0008 * 14 1,500
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= 21,120
< 8,230
Al 225,777
FL2E0e RGAA 42,168 42,168 0
201 Let249] 35,168 35,168 0
01 At 2teltl 2,400 2,400 0
o2g+g 2,400
ocHE30IEFY FESFNE TAMR
20,0003 » 2AI2t = 5 » 23] » 6o A 2,400
02 =224l 30,768 30,768 0
O332= & HA 7,128
odL23 0t RUBHE
99,0003 * 6HA * 128 7,128
OAl& & Hl s Xl 23,640
cZZ30s 2= |FANE=
1,720,000& » 128 20,640
¥ Z30t2 F2HH HEUHISX
500,000& * 6012 3,000
03 A2 ZHl 2,000 2,000 0
OZEs0IE A=A 2,000,000& = 14 2,000
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< 8,230
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oFFE 39,000& = 1H = 46 1,794
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201 Let249] 1,500 1,500 0
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Al 13,769
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Al 13,769
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= 4,025
Al 13,769
SHE A2 AHI AT 278,268 283,200 N4 ,932
201 et 88,268 67,000 21,268
02 2=2=24%4| 88,268 67,000 21,268
OAl&E Z&HI KX Y| 88,268
oNMINUZMEEANAE RIE24
2,358,000& » 12& 28,296
ocXMIZMEZ O (SHCIOEAN) SXES
2,361,000& ~ 12& 28,332
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500,000& = 12& 6,000
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CANZRABHEANAE SEAECX 0l=st
g AECX S+ 250,000 * 12 3,000
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og2esll &I EXISA
5,000,000& * 14! 5,000
403 XSS X201 & 80,000 76,200 3,800
02 S| 2SO0l CHEHCHE AH B 80,000 76,200 3,800
OAZ & &EH S22l 80,000,000& * 14 80,000
405 XtatE SHI 110,000 140,000 230,000
01 AR ESFH S 110,000 140,000 A 30,000
OANZFESIIE 128 HA LB EsE2Y
80,000,000& * 14 80,000
O&ats et2etsdl #+¢ 30,000,0003 * 1CH 30,000
QIHUWAIAY 24 124,535 172,295 NAT, 760
201 ¢4l 123,335 118,295 5,040
01 At 2t 2l 3,815 3,095 720
O e8| 3,815
SHMERZEOER 120,000&  12&8 1,440
CcEHUSE SRR 29,000& = 9K 261
CEHITHOUSE RXL4+E
165,000 * 6K 990
o228 EHAUSE FAs=x2
28,000& * 8K 224
CERTHOUSE RXL4+E
36,000& * 54 180
o=olsol EEVE 0|28
60,000& » 12 720
02 2324l 119,520 115,200 4,320
O332= € HAl 30,000
oEXZNH/OIHY 3ldZE  2,500,0008 * 122 30,000
OA& &8l bl 89,520
cHHYMH s/waeXEs 300,0008 * 12 3,600
COIHUWAIAR] KRXE=>
3,340,000& * 128 40,080
SZEMHOIXNAMHIA SXE =
2,000,000& * 128 24,000
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202 04| 5,000 5,000 0
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FEBEANLY 29 2 2= 1,348,629 1,220,629 128,000
HBENY 22249 721,629 721,629 0
201 et 721,629 721,629 0
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O22322 % HA 721,629
o= HHNMZI AIEZ 600,000& x 12& 7,200
o UM I 1593 & 16,000,000& = 12& 192,000
cUBIHS SABIS 203
83,000& = 12& 996
o Al AFGE 2= CHD|SHAF( L BEE B} ADSL)
100,000& * 12531 M 12,500
oxlE SHINME 6,833,340 * 12&€ 82,001
oAl A Y SOHE T/08lH 2 (29138 &)
7,500,000& = 12& 90,000
o MZ3| M DATASI A 2 (263 &)
4,600,000& = 12& 55,200
oMEZ3|H E0SU Al A 2 SOsE gH2(2
83l 4) 13,000,000 = 12& 156,000
o ADSL(633 &) 2,700,000& = 12& 32,400
o Al 4HGE 2HE SHI|DATA Sl & 2 (531 )
500,000& = 53| & 2,500
o EESMSAIZE = 2,500,000& » 12€ 30,000
oSKE X 3t 2 (83l &)
500,000& » 12€ 6,000
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4,000,000& = 14 4,000
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300,000,000& = 14 300,000
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cgMSHITY NS
20,000,000& * 14! 20,000
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824 10,000,000& = 14! 10,000
oEHOoASHH RAEBH
10,000,000& = 14! 10,000
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